7000 GeV pp Soft QCD
a ' T T T LI B A I i
3 L ]
E. 10" E (p. > 0.2 GeV) =
LL: — T .
< B _
2 2
o 10° = =
© — -
10 E —
1 =
107 & E
| —a— Pythia 8.308 default n
1072 = --*-- Pythia 8.308 tune-AU2
— --<-- Pythia 8.308 tune-AU2lox
[ --8-- Pythia 8.308 tune-AU2loxx
103 = Pythia 8.308 tune-AU2m -
_| N | | | | [ | | | | . | | I |_
:l T T T T | T T T T | T T | T T T T |:
- 2F -
= — ]
S — ]
()] | -
-c —
s - :
o 7
S B 9‘,‘"A
s 1 din
> Ly
o
s | -
£ i |
@ "
0.5 ]
| 1 1 1 1 | 1 1 " 1 1 | 1 1 | 1 1 1 1 |

Rivet 3.1.10, = 2.6M events
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